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( Example 1 )

If A(—1, 3) and B(5, 7) are two points in the plane, find
(i) |AB| (ii) the midpoint of [AB].

Exercise 11.1
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2. Draw a coordinated plane from —5 to 5 on the x-axis and from —4 to 4 on the y-axis.
Now plot each of the following points:
(i) AGB,4) (i) B(=1,3) (iii) C(4, =3) (iv) D(=4,-3) (v) E(1,-3)



3. The four quadrants are shown on the right.

In which quadrant does each of the
following points lie?
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4. On which axis does each of the following points lie?

(i) (4,0 (i) (=3,0)
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5. The points A, B, Cand Dare shown.
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Is |DC| = [BC|?
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7. A(1,1),B(3,6) and C(5, 1) are the vertices of a triangle. Show that |AB| = [BC].
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8. The centre of a circleis (—3, 1) and (4, 3) is a point on the circle.
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9. The points A(2, 1), B(6, 1), C(5, —2) and D(1, —2) are the vertices of a parallelogram.
Plot the parallelogram on a coordinated plane.
Find () [AC| (i) |BDI.
Are the diagonals equal in length?



10. The given diagram shows the points D, E and F.
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12. Find the midpoint of the line segment joining (—3,4) and (3, 7).
On which axis does the midpoint lie?
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13. The points (—2,3) and (6, S?are the end points of the diameter of a circle.
Find the coordinates of the centre of the circle.
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14. A(4,g), B(1, —3), C(—2, —2) and D(1, 4) are the vertices of a parallelogram.

Draw a sketch of this parallelogram.
Find the midpoint of [AC].
Verify that the midpoint of [AC] is also the midpoint of [BD].

14xe [ _ - - BD-’
(5 50) > (5F)

41 —340
Iy -34c
(}_,J_) 1 2
2 2
(1,_1_)
2 2

() & 6,0
N

15. Find M, the midpoint of the line segment joining A(—3, 4) and B(1, —6).
Now show that |AM| = |[MB.



16. The given diagram shows the B
points A(1, 2), M(3, 5) and B.
If M is the midpoint of [AB], find M@3,5)
by inspection the coordinates of

A(1,2)
the point B.

17. A(5, 2), and B(x,, y;) are two points.
If M(2, 4) is the midpoint of [AB], find the coordinates of B.

Exercise 11.1
1. A2, 3),B(4, 2), C(2, 1), D(—3, 3), E(-2, 2),
F(—4, 1), G(=3, 0), H(—4, —2), (=2, —3),
J(0, —3), K(2, —3), L(3, —2), M(5, —3)

3. (i) First (i) Third (iii) Fourth
(iv) Second (v) Fourth (vi) Third

4. (i) x-axis (ii) x-axis (iii) y-axis
(iv) y-axis (v) both

5. () V34 (i) V50 (iii) V53; No

6. (i) V10 (i) V5 (i) V13
(iv) V89 (v) V53 (vi) 5

8. /53

9. (i) V18 (i) v34; No

10. (i) |[FE| =6, [ED| =3 (i) V45

1. () 4,3) (i) (1,3) (iii) (3, 1)
(iv) (1, 1) (v) (1,-2) (vi) (=2,0)

12. (0, 3); y-axis 13. (2,4)

14. (1,3 15. (-1, -1)

16. (5,8) 17. (-1,6)



